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<Java7ZorisiL>
//7 5 ZSiten
public class Siten {

public String tenmei;

public int[] uc = { 901, 902, ~ 501, 601 };

public String[] um = { "&HR", "fHBRH", ~ "', U}

public int[] syu = new int[9];

public int sokei;

public Siten(String tenmei) {

this. tenmeil = tenmei;

}
public void syukei(int ucode, int ukin) {
int m = 0;
while(] i) D |
m=m+1;
}
syulm] = syulm] + ukin;
sokei = (2)
}

public void hyoji() {
System. out. println(tenmei) ;
for(int [ (3) |; n <= 8; nt+) {
int heikin = syuln] / T;
System. out. printf (" %2s %, 9d % 7d¥n", um[n], [ (4) |, heikin):
}
System. out. printf(" et %, 10d¥n", sokei):

}

// 7 5 ZUriageSyukei
import java. 1o. BufferedReader;

!

public class UriageSyukei {
public static void main(String[] args) throws IOException {
String tenmeil[] = { "", "hRLJE", "HLE", "PEIE", "RSAE", "dLSE" )
Siten[] st = new Siten[6];
for(int p = 1; p <= 5; ptt) {
stlp] = new Siten(tenmeilpl);
}
BufferedReader fileln = new BufferedReader (new FileReader("uriage.csv'")):
String line;
while((1ine = fileln. readLine()) != null) {
String[] str = line.split(",");
int hi = Integer. parselnt(str[0]);
int scode = Integer. parselnt(str[1]):
int ucode = Integer. parselnt(str[2]):
int ukin = Integer. parselnt(str[3]);
stlscode]. syukei(ucode, ukin);
}
fileln. close();
Scanner sc = new Scanner(System. in) ;
System. out. print("ZJET — F 2 AL TL EZEW=>");
int ncode = sc.nextInt();
while(ncode != 0) {
stlncode].[  (B5) |;
System. out. print("XJE 3 — F 2 AL TL LZE V=),
ncode = sc.nextIntQ;
}

sc. close();



[2#k Y ZOSEBEIREBDIZOHDRERE]
2016.01 2—@®
[7] o005 LDHBAEHRAT, 7075LD1)~B)EEZHTI0,
<7 OY5LDE>
PN Z
A=Y =T —ADPLLBHIRE—Y s I TORHF— 42 AN, NBEERERERT 5,
ANF—% I =P =T 4 — & FITEER
£EB57—% (7 74 V% kaiinl. csv)
2E®S =B F A EEL — ATt
X X X X X ~ X X X X 2AES o EE
E1R (TextBox1)
fL—=v7
. | A=) 7107
7ﬁj£7—‘_ 4 . =UTE (TextBox2) _
287 -4 (7 7 4 V4% ! kaiin2. csv) IR (5) Rt i"J'?lTbl;)%“ R T
LEES | 4EZ | I (TextBox3) e
X X X X X~ X P S e
<kHOHFF 7o b |5 ik
E2R) (Labeld)
<bLr—=vrz) 7R RRIE >
br—=vrzyT4 RUARGE RIS (D) SR O
7= 65 " 3,030 16. 6
VA P A0 i2,010; 62.8
2V Poo1d E1,430 68, 1
Z DAt 134 i1,000¢ 76.9
G P 1391 LT9T0d
(Labe15) {Label6) (Label
(FE3X)
JLPRZE(E

1. %1 XoMHEERKIZ, BiHETOF—snEiFEsh T,
2. BIMDOD b L —=v 7z )TESE, 1 (F—n) ~4 (zof) o 4EHETH 3,
3. 2 —H—7 3 — LY ERITIRDIBEZFT S o
B 1INOEBETF— 5 %5A, WA kb icaB&ZS%E, KV KnicaB4%, Y Rk A HEEELET 2, 58, 2BF—%
DUFIZB00ELINT S B, F 12, SEHBIRFTHRHIGL TV B,

Bl
Kb (0) (1) (2) ~ (499) (500)
\ [M001 [F001 \ ~ \ \ \
Km (0) (1) (2) ~ (499) (500)
SR E RS F ~
Rk (0) (1) (2) ~ (499) (500)
| | 53] 29] ~ | | |

4. FBIKDE AW ATIL, THHE] Ko v%227 ) 5 735 EROMEEITH,

LEFTE S EICHS Kb 2% L, 2EB¥% Labell I23Rd 5,

PERLZRTEE b &I, BAIRkIC 1 2NE L, Label2 ICFR~d 3,

FIAEESI0B S EcE#5]F 7 v b2 TFEITT 5, 858, 5157y P 2RITT 254, 5577 P RIT %
Labeld ic£/R L, AHODEG|F 7 o bIFTWEZE LT Labeld IcKRd 2, 72, E5[F47 v N 2FITLIEOVES,
Label3 123 & /R L7150,

o BEH) Tnin iCFIHAECE, BEH) Tii RIHEE (00 254519 5%, 58, Tnin & Tji OFEFE, bLr—=vrx) 7&K
EXHELTWVWS, F7z, Tnin(0) & T31(0) EEFTHIICHIHT %,

LWl
Tnin (0 ( @) 3) 0
| | | | | |
aah) (7= (¥&) (25 %) (2 Oft)
Tji (0 ( @) 3) 0
| | | | | |
(&b (7= (¥&) (25 %) (2 Oft)

FL—=v 7z TRIOFAAEKGTHE Labelb <, FIFKRET (43) % Label6 Ic£Rd %, Fic, SFEFIAEER (0 %
Ko, LabelT I2FRd 3,
FHAEGT O &Rl % Labelb 12, FIHEREN (43) O A&FF% Labelb ICF/Rd %,
5. THREBKTI X vE2r ) v r95&, BHKb, Kn, RkOF—4%2, FEo2XOXHicEEHL U EKTI 5,



[2#k YIOSEEREBOLOHDERE]

i

2016.01 2—@®
<TYVOEBEBITOISL>

Option Explicit
Dim Cnt As Long, Kb(500) As String, Km(500) As String, Rk(500) As Long, Mai As Long
Dim Tnin(4) As Long, Tji(4) As Long

Private Sub UserForm Initialize()
Call Syokika
Label4. Caption = 0: Labelb. Caption = "": Label6. Caption = "": LabelT.Caption = ""
Open ThisWorkbook.Path & "¥kaiinl.csv" For Input As #1
Do While Not EOF(1)
Cnt=[ (1) |
Input #1, Kb(Cnt), Km(Cnt), Rk(Cnt)
Loop
Close #1
End Sub

Private Sub #LEE ClickO
Dim Kban As String, Tban As Long, Rji As Long, j As Long, Amari As Long, k As Long, Heikin As Single
Kban = TextBoxl. Text
Thban = Val(TextBox2. Text)
Rji = Val(TextBox3. Text)

j =1
Do While (2)
j=3t1
Loop
Labell. Caption = Km(j)
Rk(3) = Rk(G) + 1
Label?2. Caption = Format(Rk(j), "##0")
Amari = Rk(j) Mod 10
If Amari = 0 Then B
Labeld. Caption = "&I5|F 7 » b FfT"
Mai = Ma1 + 1
Labeld. Caption = Format([ (3) ], "##0")
Else
Label3. Caption = ""
End If
Tnin(Tban) = Tnin(Tban) + 1
Tnin(0) =
Tji(Tban) = Tji(Tban) + Rji
T31(0) = Tji(0) + Rji
Labelb. Caption = "": Label6. Caption = "": LabelT.Caption = ""
For k =1 To 4
Labelb. Caption = Labelb. Caption & Format(Tnin(k), "#0") & Chr(13) & Chr(10)
Label6. Caption = Label6.Caption & Format(| (5) |, "#, ##0") & Chr(13) & Chr(10)
If Tnin(k) <> 0 Then
Heikin = Tji(k) / Tnin(k)
LabelT7. Caption = Label7.Caption & Format(Heikin, "##0.0") & Chr(13) & Chr(10)
Else
Label7. Caption = LabelT.Caption & Chr(13) & Chr(10)
End If
Next k
Labelb. Caption = Labelb. Caption & Format(Tnin(0), "##0")
Label6. Caption = Label6. Caption & Format(Tji(0), "#,##0")
End Sub

Private Sub 7 VY 7 ClickQ
Call Syokika
End Sub

Private Sub fREHEE T _ClickO
Dim m As Long
Open ThisWorkbook.Path & "Ykaiin2.csv" For Output As #2
For m = 1 To Cnt
Trite #2, Kb(m), Km(m), Rk(m)
Next m
Close #2
End
End Sub

Private Sub Syokika(Q
TextBoxl. Text = "": TextBox2.Text = "": TextBox3. Text = ""
Labell. Caption = "": Label2.Caption = "": Labeld.Caption = ""
End Sub
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